Kinetic Energy Worksheet
1. What is kinetic energy?

2. What is the formula for kinetic energy?
3. How are kinetic energy and potential energy related?

4. Solve for kinetic energy in each of the following problems:
a. A 6 N book is dropped at 2m/s

b. A 35N rock falls at 9.8m/s

c. A 56N bird falls at 43m/s

d. A 0.25N bullet is shot at 235m/s

e. A 73N ball falls at 0.43m/s

f. A 200N weight falls at 0.94m/s

g. A 25,000N jet flying at 523m/s

h. A 5,000N car traveling at 5m/s

i. A 55N person falling at 1m/s

5. Use the following questions to determine the effect of increasing velocity on KE.

a. A 50N bicycle is traveling at 1m/s.  What is the kinetic energy of the bike?

b. The same bicycle is traveling at 2m/s. What is the kinetic energy of the bike?

c. When the speed of the bike was __________, the kinetic energy increased by a factor of _______________.

6. Use the following questions to determine the effect of increasing velocity on KE.

a. A 50N bicycle is traveling at 3m/s.  What is the kinetic energy of the bike?

b. The same bicycle is traveling at 9m/s. What is the kinetic energy of the bike?

7. Fill in the correct amounts of energy.
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8. A ball halfway down a ramp has a kinetic energy of 2J and a potential energy of 2J.  What will the kinetic energy be at the bottom of the ramp?

9. Fill in the correct amounts of energy for the pendulum shown below.
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10. At the top of the ramp, the ball has a mass of 12N at a height of 3m.  

a. What is the potential energy of the ball?  

b. What is the kinetic energy of the ball?

c. Use these pieces of information to complete the diagram below.
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11.  At point A on the diagram, a 4N ball is at a height of 7m.

a. What is the potential energy of the ball?

b. What is the kinetic energy of the ball?

c. Use these pieces of information to fill in the diagram below.[image: image4.png]



12. At point A, the ball is exactly halfway down the ramp.  Fill in the rest of the diagram.
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